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QUESTION 1

Which of the following SELECT statements returns a different data value than the other SQL statements? 

A. SELECT MONTH (CURRENT TIMESTAMP) FROM SYSIBM.SYSDUMMY1; 

B. SELECT EXTRACT(MONTH FROM CURRENT TIMESTAMP) FROM SYSIBM.SYSDUMMY1; 

C. SELECT LPAD(LTRIM(SUBSTR(CHAR(CURRENT TIMESTAMP(10)),6,2),\\'0\\'),11,\\'\\') FROM
SYSIBM.SYSDUMMY1; 

D. SELECT TIMESTAMPDIFF(64, CHAR(CURRENT TIMESTAMP ?TIMESTAMP(`2016-01-0100.00.00\\'))) FROM
SYSIBM.SYSDUMMY1; 

Correct Answer: D 

 

QUESTION 2

In order to evaluate the real-time relative disorganization of an index, which catalog table would you query? 

A. SYSIBM.SYSINDEXES 

B. SYSIBM.SYSINDEXPART 

C. SYSIBM.SYSINDEXSTATS 

D. SYSIBM.SYSINDEXSPACESTATS 

Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_12.0.0/wnew/src/tpc/
db2z_cataloghistorytables.html 

 

QUESTION 3

Which of the following statements is TRUE when issuing an SQL ROLLBACK (without SAVEPOINT) statement? 

A. All held LOB locators are retained 

B. All locks that are implicitly acquired during the unit of recovery are retained 

C. All rows and all logical work files of every created temporary table of the application process are deleted 

D. All cursors are closed, all prepared statements are retained, and any cursors that are associated with the prepared
statements are invalidated 

Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/sqlref/src/tpc/ db2z_sql_rollback.html 
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QUESTION 4

Assuming column hire date is a DATE data type, which SQL statement will retrieve the maximum salary (salary) and
minimum salary(salary) for each job(job) from EMPLOYEE table for those hired(hiredate) before 1965? 

A. B. C. D. 

Correct Answer: D 

 

 

QUESTION 5

Which of the following locking scenarios requires the least amount of real storage in the IRLM address space? 

A. 10 row locks 

B. 200 page locks 

C. A single table space lock 

D. 6 partition locks (given a table space with a total of 10 partitions) 
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Correct Answer: C 
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